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TEHEX Sy - THE - R B {7 ¥ & & # il bl A iR
JERRH R X 1 48, 636, 367
HEELT = 1 7,570, 488
HRHEI T = 1 1,363,600 |$@H] 4, 000 m3
/Y A7 iy PR PEEME 5, 000m3ATH ;
HRHEI T = 1 74,998 | HiEH 220 m3
/Y A7 iy b PRI PEEME 5, 000m3ATH ;
BEARRE AT = 1 24,560 | BRI (BEER) R 1 100 m3
4. 0mPL E
AR T =X 1 45,008 | FEIK (L) B& 1 8 m3
2. 5mATH
BRE LT = 1 384,870 | HEERE T 100 m3
4. 0mPL E
A5k 1 X
Rkt A = 1 539,280 |{EMmEETE (G) L) 400 m2
BGHROE VP R OWE + e+
T (B ) 400 m2
T i S O I BRI
5527 ) =} =X 1 1,232,000 |8E 0 av))-} 500 m2
JE5cm 18-8-25 (20) () av/)-MERIEIHY
40 .
P v T = 1 3,706, 888 | EKki 1 =
BIL O-27)
T wb AT 1 X
0 Cadl- EHIRY £5T) ;
P v T = 1 199,284 | F&it 1 =
BIL O-27)
b T 1 X
0 Cadl- EHIRY £5T) ;
MR B T = 1 514, 810
B 2 1 514,810 |{&# 100 m3
YA
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TSy « TfE - FER B {7 ¥ & & A bl A iR
oAb E 1 X
0 Cabl- EHIRY £5Te) ;
e 1 =
HIL -20)
IR = 1 8, 240, 200
fliAE T = 1 4,212,200 | & +MAfF 500 m2
Elem &ML 500m2Lh F1000m2AT ;
A B4 IR A 500 m2
Sem AR EAFRAT T 500m2 8L - 1000m2 K ;
ANTHEZ 500 m2
it E
EEWRAT T = 1 4,028,000 |a/7)-MKAF 400 m2
W@t A/ b JE10cm
HEKHEEY T = 1 6, 147, 593
EELT = 1 TAT, 777 | RIED 1 X
+4)
HEL 1 2V
HmEEE 1 =X
oAb E 1 X
0 Cadl- EHIRY £5Te) ;
e 1 =
HL -20)
EELT = 1 89,216 |FR#EY 1 X
+4)
HEL 1 2V
+4)
oAb E 1 =X
0 Cabl- EHIRY £5Te) ;
e 1 =
HIL (-20)
AR T = 1 4,585,800 |7 VEvANUBLITE 200 m
CEE D
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TEHEX Sy - THE - R B {7 ¥ = & # il pall 2! R
E 30cm & 30cm ;
7" Vv A NUBRMAITE: 200 m
(K& H)
E 30cm & 30cm ;
AR T = 1 724,800 | & (i) SAUARE 40 m
(e )
E 30cm & 30cm FERABLT ;
BT 2 1 590, 508
e+ T X 1 257,408 |FRIEY 1 X
+4)
HEL 1 2V
+4)
A5k} 1 X
b 1 =X
+wp CEHR - ERIRY LET) ;
e 1 =
L O0-2)
e = 1 333,100 | i FHRARE % 100 m
6 100 ;
EEEET = 1 6,126, 576
ERLL R T =X 1 30,214 | RREFEIE 231 m2
MEMIEL ;
TA7 7w Ml T = 1 2,706,000 | F/EHAE (B - BRIEER) 1, 000 m2
FEIT9Y%77 RC-30 AV /E 100mm ;
g (I - BIF ) 1, 000 m2
PGB EET A2y (20) 4#2EE 50mm 3. Omtd ;
TAT 7 M T 2 1 1,568, 122 | /@A (B3E - BFHH) 1 =
(#E1RER)
RIEE TR M-30 LY /E 100mm ;
b R (HEE - BRI ) 363 m2
RIEE TR M-30 LY /E 100mm ;
ZJE (B - BIFED 631 m2
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TEHX4y « Tfd - FER B Az ¥ = & #A #m il N BN
FAE BRI BT A2/ (20) A2EE 50mm 3. OmiZ ;
=N = T, = 1 1,537,000 |ZFE (BHE - BKIEE) 1, 000 m2
AR AT (13) FE)EEE 40mm 3. Om
it ;
TAT 7 MR AR i T = 1 285, 240 |~ yFvr 3 t
HABRLET A (13)
[CZ=HN =Y 1 117, 400
oL Y 1 117,400 |7Ap-7" 100 m
FA IR FET A2y (13) 155em2LL F175em2K0
BT T = 1 2,642, 593
EEARI I AT T 2 1 875,600 |4 =N V—w 100 m
WAL Gr-C—4E 100mPh b a4 F 4
B 1Al T = 1 1,766,993 | F5fE7 0y, SR LA 51 H
R AR
&8 - 3AE (ST NBE 1R 100 m
M1, 5m —f% .
(EINHI 100 m
MRIEIBAZEN(7" SEIH M ;
X T = 1 359, 100
X H R T = 1 359, 100 | VAR X miR 1, 000 m
AT E) B @ 15em E 1. 5mm HEAMEELE
M .
TE AT R itk T Y 1 350, 610
BRT X 1 350,610 | BT 30 %N
120X 120 X900 R4 & JLpksE L ;
BEen 30 e
40X 100X 2 (J&ff &) 308cLL E
SN AL T =Y 1 11, 764, 950
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THEL | B - SAEERRK - B#XALRZOMTHE

TEHEX Sy - THE - R B {7 ¥ = & # il pall A iR
IEALBREE T 2 1 10,906,100 |#HEEE 300 =]
EErEEE 300 i3
HEEF (—%) 800 FER
HEEETF (FRER) 800 FER
TN [ bR ] 400 FREfH
FHE B PEXEL 5L ;
VAVAN VEVAW R LA A A =1 400 A ]
2tHE K ;
Ny Ry (Fr=77) Y 400 B
[LIFE0. 28m3 (CF-AH0. 2m3)
=vn=p" (b 7Ry an’ ) iEE 400 iR
[LIf&0. 5m3 ;
o5 1, 000 1~
62X 48cm LAk HELE ;
FIREH 100 £
45 (30kg)
IEALBREE T = 1 858,850 |HFER{FEER 50 B2 ]
EErEEE 50 i3
HEEF (—%) 60 FREfH
MYV [ iR ] s 30 i3]
FHE B PEXEL 5L ;
B U7 Ny Uhve=h -7 -t V] SR 30 iR
2t8E
HEE L = 1 1,106, 489
B M T =W 1 101, 689 | Bl (0 =1 v-0) 3 m
WAL, Gr-C-4E
e LT it 1 303,871 |2/ - M L 10 m3
MRS BhkE T
/) ) -MEEEBUE L 10 m3
ERApIEEY) FAAE T ;
ERZE R 1 X
TAT7MEEERR 15emEL T
il ARG e 200 m2
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THEL | B - SAEERRK - B#XALRZOMTHE

TEHEX Sy - THE - R B {7 % & # il EN
TAT VMR SHEERIE 5 ¢ m ;
HEETE LT X 148,939 |27~ EsE L ! m3
A EY) BhkE T
AENR T 1 =
TAT 7V MEHEERR 15emPA T
EhAE AR AR 610 m2
TA77 VMRS BEERE e m
PR A 2 182,602 |HHE Y 1 X
+H
HEL 1 2V
+H
b 1 =X
+wp CEHR - ERIRY LET) ;
e 1 =
L O-27)
TR B S 75 m
6 100 ;
TR AL T = 173,430 | 10 m3
vy )= hik (BEAR)
o 1 10 m3
/) -hik Bk
e 10 m3
TAT 7V Mk
By 10 m3
20— ik (%)
By 10 m3
/) -hik Bk
By 10 m3
TAT 7V
TR AL T = 195, 958 | i 1 m3
vy )= hik (BEAR)
o 1 32 m3
TAI 7
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THEL | B - SAEERRK - B#XALRZOMTHE

TEHX4y « Tfd - FER & #A #m iR
RISy 1 m3
/) -k (BERR)
RISy 32 m3
TAT7IV NS
AL R S 1 F2V
B =N V=
A Y 3, 105, 050
TEHERKT Y 588, 500 | FHHF] 1, 000 m2
W B R A150-0 FE 200mm ;
%+ Y 101, 300 | mEmER+- 100 m
Kimid 30cm mE 30cm g
EHEWRAT T Y 2,115, 650 | {Z% FATVIVIKFT 950 m2
BB (434) 500m20L 1000m2AT HEmE G A
FEOMIER ;
A ERE E T = 299, 600 | AZIEFEEE i B 1 =
[ERAE Xy = 48, 636, 367
HiE 2 = 6,116,610
BISTIGE: = 878, 610
e ig Bty = 327,610 | BHAEME O HSEE E D 72 D O FEMR AR 1 =
B R AT -MERE 1 =
BGRESCGES (5 1) = 551, 000
B (FEHL) = 5, 238, 000
T = 54, 752, 977
Bl gy = 17, 635, 000
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THE4 | B - SAAEERRK - B#IXA R Z O T
THEXSy - THE - FE5 H7 & & # i Gl N
T AT 2V 1 72, 387, 977
— e PR A E20 1 12,912, 023
N E20 1 85, 300, 000
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